(@ Ny, /dndeC

90
&

Ratio to ATLAS

N

2.5

1.5

0.5

0.5

7000 GeV pp Underlying Event

] L I e ]
- <N,> vsn**(n| < 2.5, p_> 0.1 GeV) n
B m ATLAS ]
— --O-- Pythia 6.428 345 7]
— £t Pythia 6.428 346 —
— —4A— Pythia 6.428 370 _
B Pythia 6.428 default _
— —— Pythia 8.183 default ]
L L o I bt L LT P Lt e _ DE_ g
- 1 F > SR £l
u L | | | | | | | | | .,
:l T T T T | T T T T | T T :
!_ [] Lo 1] _!ll'l g -..H,A-_!Ig_! 7&,15-'.
ARAABACBEN=ANAAL '“'”'i,“l_hf"' ,\«n AR AP O R R ABCTRO KA A AR
AL =™ S:Cl, A @ P vn < ©) /X - ]
| 1 1 1 1 | 1 1 1 1 | 1 1
0 1 2

In| (leading track)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


